Al 2 0 &
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H
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0
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ton
ne
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ton
x
HO
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é
10
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0

D 2HS0

[

D 2kl &E
=
=3

Ab e E A A

D 2tz dAFE 29 (e &)
FA - ZH - SRA(ZH) - HIRAY - BES Ofl &4 IEH Hlusz

=t 18,499,070 17,714,028 785,042

= 1,472,400 1,741,400 269,000

s 440,000 440,000 0

pl 1,265,427 1,246,401 19,026

S 1,563,397 1,473,343 90,054

= 13,757,846 12,812,884 944,962

Zslzs ME 6,937,764 6,745,094 192,670

Il 945,365 926,339 19,026

LS 806,893 677,350 129,543

[ia 5,185,506 5,141,405 44,101

Zotlilz dARE 23 1,702,956 1,613,286 89,670

Il 245,365 226,339 19,026

LS 248,643 120,350 128,293

[ia 1,208,948 1,266,597 A57,649

2otz 22 299,986 156,986 143,000

201 Zer=a| 203,936 60,936 143,000

01 AtR22t2ld| 201,360 58,360 143,000

OMBCOIQHIAE HIZ XI&Z2 132,000,000 132,000 0 132,000

OdEzsH=2)2d 29

3,000,000& 11002 33,000 22,000 11,000

gH&HIZ3=EM iz 160,000 160,000 0

LS 40,000 12,000 28,000

[ia 120,000 148,000 228,000

307 212+0I1A 160,000 160,000 0

LS 40,000 12,000 28,000

[ia 120,000 148,000 228,000

04 QIZHHAAIE B = 160,000 160,000 0

OggdbI=s=n X 160,000, 000& 160,000 160,000 0

LS 40,000 12,000 28,000

[ia 120,000 148,000 228,000

sgEsolzd 293,370 266,700 26,670

Il 205,865 186,839 19,026

< 28,643 26,350 2,293

s 58,862 53,511 5,351

308 AXIHHSOIA 293,370 266,700 26,670

J| 205,865 186,839 19,026

< 28,643 26,350 2,293

s 58,862 53,511 5,351

11 S| 2S0IU e & EAEAI| 293,370 266,700 26,670

Osgzsosa 293,370,000& 293,370 266,700 26,670

Il 205,865 186,839 19,026

LS 28,643 26,350 2,293

[ia 58,862 53,511 5,351

ZoH0=SHIA 1,600 81,600 80,000

201 Zer=a| 0 80,000 280,000
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D 2HS0

D 2kl &E

D 25l BAEE 2 (e &)
SN - BB - B9I(31) - HIRAY - BAS HlZE2

03 A2 0 80,000 280,000

OZ2}0l=Z3HSN 2L 0¥ 0 80,000 280,000

A= HIE AL 0 140,000 A140,000

307 g12+o|& 0 140,000 140,000

04 QIZIHAIAIHEE X 0 140,000 140,000

OJl&t=StME JH= 03 0 140,000 A140,000

A HEHAH X 2 140,000 0 140,000

L= 70,000 0 70,000

i 70,000 0 70,000

307 g12+o|& 140,000 0 140,000

L= 70,000 0 70,000

i 70,000 0 70,000

04 QIZIHAIAIHEE X 140,000 0 140,000

OIS HIA Dzl (X2 140,000,000 * 14! 140,000 0 140,000

L= 70,000 0 70,000

i 70,000 0 70,000

SXIAEH &t At EE B 80,000 80,000 0

= 30,000 9,000 21,000

s 50,000 71,000 21,000

307 g12+o|& 80,000 80,000 0

= 30,000 9,000 21,000

s 50,000 71,000 21,000

04 QIZIHAIAIHEE X 80,000 80,000 0
OEXIAH et MHEEE ZAUS

80,000, 000& 80,000 80,000 0

= 30,000 9,000 21,000

[ias 50,000 71,000 21,000

A2 S3H0l=HA XIZ A 10,000 10,000 0

L= 5,000 1,500 3,500

= 5,000 8,500 A3,500

307 gIztol& 10,000 10,000 0

L= 5,000 1,500 3,500

= 5,000 8,500 A3,500

04 QIZIHAIAIEE X 10,000 10,000 0

OttEIREEs dERIZZA 10,000,000& 10,000 10,000 0

L= 5,000 1,500 3,500

[ 5,000 8,500 A3,500

sshs8l JIgAY X 20,000 20,000 0

L= 5,000 1,500 3,500

s 15,000 18,500 A3,500

307 gI2tol& 20,000 20,000 0

L= 5,000 1,500 3,500

[iss 15,000 18,500 A3,500

04 QIZIHAIAIEE X 20,000 20,000 0
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D 2kl &E
=
=3

D 2tz dAFE 29 (e &)
A - ZH - SRA(ZA) - HIRA - B Oll 2k IEH Hlusz

OSstsRIEAIY HAKIA 20,000,000 20,000 20,000 0

S 5,000 1,500 3,500

T 15,000 18,500 23,500

S0l IgrAld s 2te] 4,957,488 4,865,488 92,000

Il 700,000 700,000 0

LS 551,000 551,000 0

= 3,706,488 3,614,488 92,000

ZatlsAlds2tel 57,983 47,983 10,000

401 AlEH|IZL S OHYI 50,000 40,000 10,000

01 Al&H| 50,000 40,000 10,000

OSFMAZEE | 5,000,000& 20K 24~ 10,000 0 10,000

AERSEs 222t 502,508 450,508 52,000

401 AlZHIL SO 286,050 234,050 52,000

01 Al&HI 286,050 234,050 52,000

OLEZ3t0l=al2t TAIDIA HH2SAL

52,000,000 x 14 52,000 0 52,000

td SEa2t AE 930,000 900,000 30,000

405 KHaHE =8| 30,000 0 30,000

01 AL =EFSH 30,000 0 30,000

Ottd ®sgslat gJ| 2 30,000,000 30,000 0 30,000

ANeg2std 2K 277,320 266,320 11,000

S 7,250 6,000 1,250

s 270,070 260,320 9,750

SEAMSEAMIE 12,000 12,000 0

S 5,000 4,000 1,000

= 7,000 8,000 21,000

307 212401 12,000 12,000 0

S 5,000 4,000 1,000

[ia 7,000 8,000 21,000

02 QIFAMSES 12,000 12,000 0

OZEAIZZAL XIR 12,000,000& 12,000 12,000 0

S 5,000 4,000 1,000

o 7,000 8,000 21,000

Z3tHAL AR 10,000 10,000 0

S 2,250 2,000 250

= 7,750 8,000 A250

307 212401 10,000 10,000 0

S 2,250 2,000 250

[ia 7,750 8,000 2250

02 QIFAMSES 10,000 10,000 0

O23Hd ZstHAKIR 10,000,000& 10,000 10,000 0

S 2,250 2,000 250

= 7,750 8,000 A250
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SN 2SHSD
za: 2si0e NS
ool X2sd 2K CEEED
FA - ZH - SRA(ZH) - HIRAY - BES Ofl &4 IEH Hlusz
NEEEENEEENE 134,800 123,800 11,000
307 S12H01F 34,800 123,800 11,000
02 QIRIFAAEEE 34,800 123,800 11,000
O=Sstd =n9¥s 2 N
77,000,00024+14! 77,000 72,000 5,000
OFRBAIMAT ZBY X
6,000,00024+14! 6.000 0 6.000
SsiRi BERL) 4,508,664 4,678,844 A170,180
= 1,472,400 1,741,400 £269,000
| 56,685 56,685 0
= 558,106 620,830 £B2,724
2 2,421,473 2,259,929 161,544
se5 27 o ®2 87,100 65,180 21,920
= 21,500 14,924 6.576
2 65,600 50,256 15,344
BNHSS5t HSAY 22,000 13,600 8,400
= 6,600 4,080 2,520
2 15,400 9,520 5,880
307 21201 F 22,000 13,600 8,400
= 6,600 4,080 2,520
2 15,400 9,520 5,880
AEIEFONSEES 22,000 13,600 8,400
ONEEHE E504 29 X2
22,000,002 22,000 13,600 8,400
= 6,600 4,080 2,520
2 15,400 9,520 5,880
HEYNSoHSHE 27,000 13,480 13,520
= 8,100 4,044 4,056
2 18,900 9,43 9,464
307 21201 F 27,000 13,480 13,520
= 8,100 4,044 4,056
2 18,900 9,43 9,464
02 QIRIFAAYEE 27,000 13,480 13,520
OUE s HS23 HSAY X
27,000,002 27,000 13,480 13,520
= 8,100 4,044 4,056
2 18,900 9,43 9,464
AFERIRIZIS] 245t 771,39 423,3% 348,000
2 149,000 0 149,000
= 14,700 0 14,700
2 607,604 423,3% 84,300
AP OHISSHT RALKIR AR 98,000 0 98,000
= 49,000 0 49,000
= 14,700 0 14,700
2 34,300 0 34,300
401 Al&I L2 CHY| 98,000 0 98,000
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SN 2SS
Hm: 23194 2EDE
chol: APETIXIZIS A (ol &)
2N - 3 - SI(3H) - MRAY - BES Ol &K I Hlnsz
= 79,000 0 23,000
= 14,700 0 14,700
2 3,300 0 34,300
01 Al&H 98,000 0 98,000
OAIE OIHIS3HTH ZAF KIRIAR (EHSAIK])
98,000,002 98,000 0 98,000
= 49,000 0 49,000
= 14,700 0 14,700
2 34,300 0 34,300
ADIE AEEI2E ISR AR 250,000 0 250,000
= 100,000 0 100,000
2 150,000 0 150,000
401 AIBIZ 28] 250,000 0 250,000
= 100,000 0 100,000
2 150,000 0 150,000
01 AlZH 250,000 0 250,000
OADIE AEEI2R TR Al
250,000,002 250,000 0 250,000
23 100,000 0 100,000
2 150,000 0 150,000
2DIZ 2524 1,680,000 2,250, 100 A570,100
2 1,155,000 1,573,000 418,000
= 245,400 344,400 99,000
2 279,600 332,700 53,100
ME SEAX N ASHE BAEHI(EXNY) At 0 550,000 550,000
= 0 385,000 385,000
= 0 82,500 82,500
2 0 82,500 282,500
401 AIEHIL2 08| 0 550,000 550,000
= 0 385,000 385,000
= 0 82,500 82,500
2 0 82,500 182,500
01 Al&H 0 546,600 546,600
OME SHEAX N AB4E 25T 257
04 0 0 546,600 546,600
= 0 385,000 385,000
= 0 82,500 82,500
2 0 79,100 AT79,100
03 Al&SCHY| 0 3,400 A3,400
OME SHEAX N ASME 28 257
EXI0HY SCHy| 02t 0 3,400 A3,400
AE CIA A ABSAE SRS 2A) HHA 0 110,000 A 110,000
= 0 77,000 AT7,000
= 0 16,500 16,500
2 0 16,500 16,500
401 AlEHIL2 0| 0 110,000 110,000
= 0 77,000 AT7,000
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M 2stHsD
M Esigu DEw
chel: IS (Sr9l: &2)
S - EB - ERI(SH) - MIRA - BES o8y plE-L! HimEE)
S 0 16,500 216,500
2 0 16,500 216,500
01 Al&Hl 0 110,000 /110,000
OLHE SEAT A ABAE 25T 257
NI 02 0 110,000 A110,000
2 0 77,000 AT7,000
= 0 16,500 216,500
i 0 16,500 216,500
AFE MUQINK] AENZNLIEHA HUUDEA 200,000 170,000 30,000
= 140,000 140,000 0
= 30,000 30,000 0
2 20,000 0 30,000
401 AlEHIZLS0HY] 200,000 170,000 30,000
= 140,000 140,000 0
= 20,000 30,000 0
i 30,000 0 30,000
01 Al&Hl 200,000 170,000 30,000
OLHE SIAAF B21D| JHEHHTI Stol2 I8t HY
FI=EIY 200,000, 0002 200,000 170,000 30,000
2 140,000 140,000 0
= 30,000 30,000 0
2 20,000 0 30,000
&E S=AL HISE 28 83 At 106,000 90,100 15,900
= 74,200 74,200 0
= 15,900 15,900 0
i 15,900 0 15,900
401 AlEHIZLS0HY] 106,000 90,100 15,900
2 74,200 74,200 0
= 15,900 15,900 0
i 15,900 0 15,900
01 A2t 06,000 %0, 100 15,900
OAE STAF HISE =2 &3
106,000, 000& 106,000 90,100 15,900
= 74,200 74,200 0
= 15,900 15,900 0
i 15,900 0 15,900
A&F HEst HES SEAMY 44,000 0 44,000
2 44,000 0 44,000
401 AIEHIZSTHE| 44,000 0 44,000
= 44,000 0 44,000
01 Al&Hl 44,000 0 44,000
O3S SE8 ZBY ATELA(LBAL)
44,000, 0002 44,000 0 44,000
2 44,000 0 44,000
EXNEBMES 436,000 406,000 30,000
= 215,500 200,500 15,000
i 220,500 205,500 15,000
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2A:
X XH -
o=

=oak

S3HM=1

Zatm4t 2E2

SA - B CRI(BIH) - AIRAY - BAS Ofl b ey Hms2
NLZet & dSAHE 28EsAY 30,000 0 30,000
= 15,000 0 15,000
i 15,000 0 15,000
401 AIEHIZL 201 30,000 0 30,000
= 15,000 0 15,000
2 15,000 0 15,000
01 Al&Hl 30,000 0 30,000
OLE BN ALIR F8 AE25(21324)
At 30,000, 0002 20,000 0 30,000
= 15,000 0 15,000
i 15,000 0 15,000
A[E HSEE N 6,745,297 6,230,998 514,299
2 440,000 440,000 0
| 263,377 263,377 0
= 198,398 175,163 23,235
2 5,843,522 5,352,458 491,064
ZoN=2s 43t 3,743,647 3,490,957 252,690
| 263,377 263,377 0
= 198,398 175,163 23,235
i 3,281,872 3,082,417 229,455
ZoHIM=S0tel 8,360 7,260 1,100
= 4,180 3,630 550
i 4,180 3,630 550
307 g12+o|& 8,360 7,260 1,100
= 4,180 3,630 550
2 4,180 3,630 550
02 QIZHEAAEE X 8,360 7,260 1,100
OO HESOr| X 8,360, 0002 8,360 7,260 1,100
= 4,180 3,630 550
2 4,180 3,630 550
MHEZIF2 MRS 2GR~ 225,640 163,600 62,040
307 g12+o|& 225,640 163,600 62,040
03 2IZIEHHEE 22X 225,640 163,600 62,040
OUEZHSEY C@IfHIS XY 16,000,002 16,000 0 16,000
OARIF ENIZ(FAFL) N
46,040,000 46,040 0 46,040
2MSU2 o= X 270,000 215,000 55,000
307 g12+o|& 270,000 215,000 55,000
04 QIZIHAIAIEE X 270,000 215,000 55,000
OZ0l19] 2 MFSAL K
20,000,000&*110H=H 220,000 165,000 55,000
FSPNESISE=EEN 181,200 181,200 0
307 g12+o|& 170,000 170,000 0
04 QIZIHAIAIHEE X 170,000 170,000 0
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SN 2EHS]
Hu: AME HSES X2
ool POINSES 245 R
SA - B - SR(FH) - MRAY - BES Oll 2k JIEA Hws2
02023 MEZ A=nid HA=d
70,000,002+ 12| 70,000 70,000 0
02023 A& FE=H eI
70,000,002+ 13| 70,000 70,000 0
REYCEEEE 50,000 40,000 10,000
307 BIRH0IH 50,000 40,000 10,000
04 DIZIEATAII BT 50,000 40,000 10,000
OHRETQ £8 AHYI| X
0,000, 0004141 10,000 0 10,000
HMA2EY3 50,000 55,000 £5,000
= 0 5,000 5,000
2 50,000 50,000 0
307 BI2H0IH 50,000 55,000 £5,000
= 0 5,000 £5,000
2 50,000 50,000 0
04 PIRIEATATRIR T 50,000 55,000 5,000
OX=EESTS Iz 50,000, 00024+ 12| 50,000 55,000 5,000
= 0 5,000 5,000
2 50,000 50,000 0
AEDAU B2RAE 203 N 60,000 62,000 £2,000
= 10,000 12,000 £2,000
2 50,000 50,000 0
307 BI2H0IH 60,000 62,000 £2,000
= 10,000 12,000 £2,000
2 50,000 50,000 0
04 PIRIEAIATRIZ T 60,000 62,000 £2,000
OMFEZ4H BIRAEEAME WA
60,000,002+ 13| 60,000 62,000 £2,000
= 10,000 12,000 £2,000
2 50,000 50,000 0
JALEX A H=HEE K 22,000 28,000 £6,000
= 0 6,000 286,000
2 22,000 22,000 0
307 BI2H0IH 22,000 28,000 £6,000
= 0 6,000 26,000
2 22,000 22,000 0
04 DIRIHATAIRIR T 22,000 28,000 26,000
OBMLTIA ®2 HTLHS
22,000,002+ 13| 22,000 28,000 26,000
= 0 6,000 286,000
2 22,000 22,000 0
Hgtaret 4042 EEH0IESTHS 25,000 0 25,000
307 BI2H0IH 25,000 0 25,000
04 DIZIHATAII BT 25,000 0 25,000
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2N 2
Hm: 2AFsl
2

=oak

=)
é
10
jo
0
jo
X
for
[
40
p
10

S - BB SRA(SIH) - HIRAY - BES il &k pE-L" BlRE2

ONELIE 4= ALH0IESHS

25,000,002 25,000 0 25,000

SRS SUE (S SE HAY) B3 169,800 120,200 49,600

201 Lt t| 157,020 117,420 39,600

02 Z2=29H| 133,500 93,900 39,600

O+9% 2 82N BIR3 133,500 93,900 39,600

0|23 9,000,00024 1224 108,000 60,000 48,000

o4t ER3 2,000,00024 1224 24,000 32,400 18,400

401 A&EIZ 2| 10,000 0 10,000

01 Al&H 10,000 0 10,000
OLE2SHSUE LS SXL4

10,000, 00024 10,000 0 10,000

e e I 510,000 471,050 38,950

= 150,000 138,315 11,685

2 360,000 33,73 27,265

25,240 22,240 3,000

= 4,572 3,672 900

2 20,668 18,568 2,100

12,440 9,440 3,000

8,040 5,040 3,000

400, 000211224 4,800 3,000 1,800

= 1,440 900 540

2 3,360 2,100 1,260

150,00024 1224 1,800 90 840

= 540 283 252

2 1,260 672 583

40,00021+3)H A+ 122 1,440 1,080 360

= 432 324 108

= 1,008 756 252

457,560 421,610 35,950

= 137,268 126,483 10,785

2 320,292 295,127 25, 165

457,560 421,610 35,950

o4t B8z 33,760,420 33,761 33,791 A30

= 10,128 10,137 A9

= 23,633 23,654 A21

83,532 53,552 29,980

29,0002 +401% 1772 20,532 19,952 580

< 6,160 5,986 174

= 14,372 13,966 406

84,0002 +5014502! 21,000 12,600 8,400

< 6,300 3,780 2,520

= 14,700 8,820 5,880

700,00024%501+63] 21,000 0 21,000

< 6,300 0 6,300
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2AM:
PSESR
I:|-0| :

S - BB SRA(SIH) - HIRAY - BES il &k p[E<E" BlRE2
= 74,700 0 74,700
on=7t| 800, 000214501 +43] 16,000 10,000 6,000
< 4,800 3,000 1,800
2 11,200 7,000 4,200
SREaE XY (2E) 24,000 0 24,000
< 24,000 0 24,000
201 LBr2H| 2,800 0 2,800
= 2,800 0 2,800
01 At 22l 2,800 0 2,800
Ollas SYSE PY(SR)
150, 00024 %27) A +62 2,400 0 2,400
< 2,400 0 2,400
Oll4ct 8% U ER2E DY(SYH)
100, 00024%43] 400 0 400
= 400 0 400
301 YHEHZ 14,700 0 14,700
= 14,700 0 14,700
10 HI=CHe - 2ESRSEAS 14,700 0 14,700
OUElEEALI(H2H) 84,00024%501+352! 14,700 0 14,700
< 14,700 0 14,700
405 XHHFSH| 6,500 0 6,500
< 6,500 0 6,500
01 XML S F S| 6,500 0 6,500
Ol WHgd| Pel(L2R)
3,250, 00022044 6,500 0 6,500
= 6,500 0 6,500
DAL 2,961,650 2,740,041 221,609
2 440,000 440,000 0
2 2,521,650 2,300,041 221,609
DZASAE2Y 503,870 532,261 28,391
101 Q1214 159, 110 187,501 28,391
VPELEEIELES 159, 110 187,501 28,391
O=CIMSHE 22l 28,055 56,446 £28,391
0122 73,28021%10142582 18,907 37,813 18,906
IESENS 73,28021%101+522 3,811 7,622 £3,811
(ELIRN 73,28021% 150+ 1215202 2,199 4,397 ~2,198
0=elei3 23,917, 00021+4.5% 1,077 2,270 A1,193
0=eIRIARE 23,917,00021+3. 495% 836 1,763 ~927
0L OIED| QUABEE 836, 0002146 14% 52 109 ~57
InEEEE] 23,917,00024+0. % 216 454 ~238
T 23,917, 0002 4% 957 2,018 A1,061
A72 HEALSE 1,357,780 1,107,780 250,000
01 Al Bl = CHY| 1,337,780 1,087,780 250,000
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A 2atds1
FM: HME HsE2s N

tel: SSHSAIE 2

2M -3 .- H2(3H) - A - LS 04| &koH J| & Hns2
01 A2t 1,334,000 1,084,000 250,000
Ot THEZ2TE ZABA 550,000, 0002 550,000 500,000 50,000
OMISAILES L 28S9XH 280,000,000 280,000 180,000 100,000
OSAIIABT R =8 HHIAIR! 50,000,000 50,000 0 50,000
OR0UHSHE 21222 A 50,000,000 50,000 0 50,000
LZHSAE 243} 40,000 0 40,000
ME DIE2TE ZAAL 40,000 0 40,000
401 AlEHIZ S 40,000 0 40,000
01 AlZH] 40,000 0 40,000
OMZ MIOBDE TAAY AALHZS
20,000,000 20,000 0 20,000
OMZE TIE2TE ZHAY ARD JHoHE
o5t} 2o 20,000,000 20,000 0 20,000
NEEEEESEn) 278,125 29,872 248,253
SEE 278,125 29,872 248,253
FEEN = 278,125 29,872 248,253
802 E+e+2D|Ef 278,125 29,872 248,253
01 2nEx=urE=2 201,515 20,296 181,219
020201 BFDARASSITH SEAIY ZHoH
(OIXF2Z ! 268,000 268 0 268
0202015 MMSBITH AIR! ESHEroH
4,354,320 4,355 0 4,355
O2020 AHAISBITH AFR] Of KhetAyol
12,2902 13 0 13
020211 BT THLHOHE Rh2| ALY R AboH
11,305,720 11,306 0 11,306
0202118 S&2310/2A Al FSETH(0|XEE)
44,391,0002 44,391 0 44,391
020218 ARZUXI0IBH KIAAI E e Aol
(OIXIZE) 1,804,960 1,895 0 1,895
020211 MEHSKITX SEXIRAIY ZaxHo
(01X 3 27,034,080 27,035 0 27,035
O2021EE 2B 2DS4AIY 0| KFe Ao
7,500 98 0 %
O2021EE 25T 2SS4AIY ZEroH
6,986,000 6,986 0 6,98
O OIF ZINTLSI EATHIAKY ZsHRtos
84,872,000 84,872 0 84,872
02 Al - CHIEE2uE2 76,610 9,576 67,034
020218 24 MBIHIA AP KIRIAF OIXFeason
1,6002 2 0 2
020201 BFARALSITH SEAIY ZHoH
(OIXIZ & 80,3902 81 0 81
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2A:
X XH -
o=

=oak

SN - BB - B9I(31) - HIRAY - BAS o8y plE-L HlZE2
020214 SWEASIAIS ZHEH (0| KHLE)
6,623,010 6,624 6,624
02021 Z3HH MLHeHE 2te|At EeEtol
2,108,440& 2,109 2,109
020214 SE23012H At HHEH(OIXIIZE)
5,384,000& 5,384 5,384
O202148 HHAH|2SISHM KI@ HEXH(0|XIELE)
6,198,230 6,199 6,199
02021 ZHHIS0te| KIRALY ZEHAH(O|RFLEY)
1,363, 240& 1,364 1,364
020218 AZXAR0IEH KFAIE LA
(OIXHELE) 243,240 244 244
020218 Al HEMS2S KI2AHE Ol Xp2raoH
2,340% 3 3
O2021F 01™ 2OIKIE 23 E=FHIAI ZigHEtol
14,764, 150& 14,765 14,765
020218 Ol S=XE 23t 2ArY S &kl
28,324,980 28,325 28,325
02021 Ol EXIE23HH 24=Ar Ol Xt
oA 622,570& 623 623
02020 MMZSHH A EeEtol
1,306,290& 1,307 1,307
020208 M2t AFY Ol t2refoH 3,680 4 4
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